Calculus Ch. 1.2 Classwork Problems

Evaluating Limits Graphically
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Sketch graph of a function satisfying the given descriptions:

v}
: — 16}
1) xl—1>r£15f(x) =3 9
g
2) f(=5) = -2 ;
5
3) f(-1) =6 ;
: _ i
4)xl_1)rr_13f(x) 0 B E 6 5 4 321 0| 1 2 3435 6 7 5 910
) X
5) f(3) = undefined i
ik
6) lirré f(x) does not exist -3
x— %
3
. _ -
7) lim f(x) =4 i
¥
8) xlirr_lsf(x) = DNE Yj
1o
9) I = ’
) xl_l)rzl7f(x) = 5 g
;
10) f(~3) =5 :
&
11) lim f(x) = 2 3
x4 )
1
12) f(4) = undefined ST 6 5 4| 32 0] 1] 2 3 4 3 6 7 B 90| ;(
- |
13) f(6) = 4 S
3
14) lim f(x) = o 3
X6 T
15) lim ) = =3 -
&
¥




Ch 1.2 WS #2 Sketch graph of a function satisfying the given descriptions:

Y
16) lim f(x) = -1 T ] 1o}
x— —9 5
g
17) lim f(x) = DNE 7
X— —6 é
L]
18) lim f(x) =2 3
x—->—4 3
19) f(—4) =2 - |
’ :“-915"3.«‘6-54-‘3:34»123455?&’93032
20) lim f(x) = =5 45
X—2 B
-3
_ -t
21) f(2) =4 -
; . S
22) lim f(x) = — 4 3
Jm S
i
23) f(4) =6 )
24) lim f(x) = +oo Y}
x— —6 0 |
9
25) lim f(x) = DNE 3
x— —4 7
3
26) f(—4) = undefined 3
4
27)£(3) = 6 :
. ,
28)£er§)f(9§):1 ‘-Q-"E'_-’f-;ﬁa-ﬁa-#é-zwijl?.3#5678919?{
_ 3
29) }Cl_)msf(x) =6 3
3
30) lim f(x) =0 2
x—-7 ~
3
31) lim f(x) = undefined -+
x—=9 -9[»
'




Calculus Ch. 1.2 Classwork Problems Evaluating Limits Graphically
#0Dses Not Exi S‘f’C?pfne)

. _ y o
D him fG)=dae) A Gl

S . E P § P .

2) xl—l>r£l4f(X) - ’

3) f(-3)= =

) lim f(0) = =gl

5 £(3) = uadefjed

6) lim f(x) = =3

7) lim £ (o) = de, Y

8) lim f() = |

9) lim f& = cdne.

10) f(-3)= -3

11) lim () = ~ 1 A

B OR W & th B N e
It

4 €
\U:
o
=
L2
B
N}
w
w -
Pt
o
-
-]
5
Y
4

)= | 27 3

.N |
_——
6o

— . | / \’
13)£(6) 5 el <)

( una&gin

14) lim f(0) = |

« {

15) lim £ = dne.




Ch. 1.2 WS #1 Continued
16) lim f(x) = doe.
17) lim f(x) =-5

18) lim f(x) = d1-@.
X>—4 ) C+o9>
19) f(—4) = un%fﬂézf

20) lim f(x) = d.a.e.
21) f(@)= 3

22) lim £ = &
2) f@w==6

e

Graph ot §

/

Y

i 2 3 4 5 & v & g 1w

‘(G‘Q‘klﬁ,ﬂdysﬂuﬁn

24) lim f(x)= O
25) lim f(x)= 3

xX— —4

26) f(—4) = &

27) Fe)=d.ne
28) lim f(x) =eb.ne.
29) DICer% fx)=0O
30) lim £(x) =d.ne.

31) lim () = A

 Graph of f

‘aaua?‘wmcféu'



Calculus Ch 1.2 Classwork Problems Worksheet #2

Sketch graph of a function satisfying the given descriptions:
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Sketch graph of a function satisfying the given descriptions:
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